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A i) Ve 5T SRS &, sty i 8 ft ol 3 30 A

ofe ; Question No., | is compulsory, answer any FIVE guestions from the remaining.

(i) Nl T¥ & 53w ) wan vk q ge 69 )
Solve all parts of a question consecutively wgether,
(iii)  NI% ¥¥ ) 72 98 & gy FH
Start each question on fresh page.
vy 3 W R s w3 # R 8 st e & ur @

e . . :
Ondv English version is valid in case of difference m both the lungnapcs

Eoom @+ v da+ oy - 12 = 0% %5 3 B sma Sifm

Find the centre and radius of the cirele 4= Y odvtay 12 -0
dy Ly
() 'S & Pe € YHate
L%

: dy v
Solve - ¢ SR Sl L

lt'\

(1) Gt wwn ~\{§ianmt{éafmi‘ﬂsiimﬁfain

md the modulus and Argument of the complex number | \ﬁ .
F*\

N x&rféﬁquraﬁa%aﬁmmﬁmﬁ%m??

[n how n avs &
Ny ways ¥ persons seated around a round table ?

ii.l
SINTA Cos™y
(1 otd) -0
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1.3.5 . ... (2n- 1)

2, () RgHfafe g prsmRisa® n P ok ¥

Prove that the middie term in the ﬂw of
(14 xp i 1.3.5.......02n- U,z"x”,

(1) &TZ $ifs . sin 10° sin 50" sin &6 sin ﬂ;=ﬂ

Prove that : sin 10° sin 5(° sin 6 sin P = 51%

[n

16

(6+6)
X, 0<x<)
3. {1) el =
/ R S {k—Z:.]ExSZ
X =1 THAA B A k 0 i |
if the function f{x) is continuous at x = |,
then find the valye of k
X, 0<x<«]
x:
S {k-Zx,lS.x'E2
(ii) %mﬁwqﬂﬁmmmmﬁ*mﬂﬁﬂm
Solve the following system of linear equation by using Cramer’s Rule -
X+2y+3z=¢6 -
& +4qy+z2=7
3x+2y+92=14 (6+6)
4, /,() fore ke .
. Prove that -
-a? ab ac
ab -b? be = 4 alh2c2 -
ac be -¢2

(i)

S0 ()

mmi‘mmmﬂmm%,ﬁﬁ@u,d)ﬁwm%mﬁ
2x+3y+ 7 = 0w ehamg R |

Find the equation of 3 line passing fhrough (3,

4) and icul: i
Txt3y+7 =0, ) and perpendicular to the jine

(6+6)
R 5 = e -y ot firg Hifra s

dy _ logx

de 7 (1 + Iogw,t)2

Ifx” = ¢ ¥ then prove that

QX _ Ingt,r

dx (1 + Inglg;}z ©6)
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i) 2 1 2 i (Fs) e o e e e i 5 and o
B tan '(y2) 1)
Show that the semi-vertical angle of a cone of maximum volume and given slant
height is tan ' (2) (6)
6. Fie e 7 i
Solve the following integrals

.'1I 'l-

, xsm 'y
(1) J“—-- :
| - x

104

.. x ¢
(n) J.(A_-* I)Z dx {6"'6}
7. 0 e e iR

Solve the following differential equations :

dy

(1) xlogx LT Y=2log x

(1) 2
dy (6+6)
(i) "9 HifR

Find the value :

i

J log. (1 + tan x)dx
0

(i) 1930, 1,2) AR TR a7 2} + 47 4 o L
j+ kw1
A (1,-2,0) % Wy spree

8

. A A A
Atorce 21 +4j + 2k is passing through poi .
{ 2h potnt (0, [.2).
L the point 1, 2, ) (0,1, 2). Find the moment of foree

(6+6)
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